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Synthesis Challenge 94
AG Wegner
15.04.2021

1) DBU, HCHO (aq.), THF
2) 03‘ CU(BF4)27 Fe(BF4)2‘ MeOH

4) TESCI, imidazole, DMAP DMF
5) HCHO (aq.), P(nBu); THF

6) TIPSCI, imidazole, DMAP, DCM
7) MeLi, Et,0

8) PDC, toluene, CH3CN

9) PPTS

10) PhNMe,, 1,2-dibromo-1-ethoxyethane
11) (nBu)3SnH, AIBN, toluene

2) Ph3PCH3Br, tBuOK, THF
3) TBAF, THF
4) p-TSA, EtOH/CHCI,

1
1
1
15) DMP, DCM

What is the name of the reaction in step 11)?



OMe
6) 1, THF

7) ACzo, NEt3

11 6-20
8) Co(salen®UBY)C|, PhSiH; acetone,

1
1
1
then TBAF, NaOH(aq.)

9) Na, NH; (1)

! MgCl
20) Ac,0, DMAP, then (CO,H) (ag.)

TIP: Step 18 and 21 proceed via HAT (Hydrogen
Atom Transfer) radical reactions

21) Mn(dpm) PhSiH; TBHP, iPrOH,
then IBX, DMSO, THF

2) NEt; TMSOTf

3) IBX, MPO, DMSO

21-23 2
2

24) CSA, H,0, CH;CN

25) MeLi, Thf, then EtOH

26) LiAIH, THF

27) TIPSOTY, imidazole, THF/CH,CN

24-28

28) Phi(OAc),, TEMPO, DCM
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Please, provide a beatuful 3D drawing of the final

product!
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